Spiel 1 Spiel2  Gesamt

Spiel31 14:37 (D1 SPINDELBERGER Gerhard| 53 + 53 = 106
D2 KOCK Ernst 53 + 44 = 97
Spiel 32 14:44 |D 3 ECKL Johann 47 + 62 = 109
D4 JURKOWITSCH Marcel 55 + 52 = 107
Spiel33 14:51 [D5 FROSCHL Max 62 + 65 = 127
D1 SPINDELBERGER Gerhard| 53 + 55 = 108
Spiel 34 14:59 |ID 2 KOCK Ernst 61 + 54 = 115
D 3 ECKL Johann 35 + 48 = 83
Spiel 35 15:08 |ID 4 JURKOWITSCH Marcel 47 + 58 = 105
D5 FROSCHL Max 56 + 62 = 118
Spiel 36 15:17 |[D 1 SPINDELBERGER Gerhard| 59 + 60 = 119
D 3 ECKL Johann 64 + 50 = 114
Spiel 37 15:26 [D 2 KOCK Ernst 52 + 62 = 114
D4 JURKOWITSCH Marcel 45 + 55 = 100
Spiel 38 15:33 |D 3 ECP§L Johann 54 + 54 = 108
D5 FROSCHL Max 59 + 51 = 110
Spiel 39 15:42 |ID4 JURKOWITSCH Marcel 63 + 54 = 117
D1 SPINDELBERGER Gerhard| 51 + 62 = 113
Spiel40 15:50 |ID 5 FF}OSCHL Max 62 + 61 = 123
D2 KOCK Ernst 53 + 60 = 113




